
PRACTICE SET -1



Part of the sentence has an error. Mark the part which has an error. If there is 

no error mark no error as your answer.
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The world is yet to figure out the  (A) relevance of the 

problem; air and water pollution (B) had been a problem 

for the whole planet since (C) the Industrial revolution era 

started. (D)

1. A

2. D

3. B

4. C

5. No error
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The increasing use of (A) fossil fuels are (B) causing their 

shortage (C) all over the world (D).

1. A

2. C

3. D

4. B

5. No error
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When I went to visit (A) my uncle in Delhi I told him that 

(B) bread and butter are (C) my favorite daily breakfast. 

(D)

1. A

2. B

3. C

4. D

5. No error
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Either Samuel or his (A) two brothers is responsible (B) 

for the fire incident that (C) took place in the firecracker 

factory. (D)

1. A

2. B

3. C

4. D

5. No error
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Each of the students here (A)/  dream of cracking the civil 

service exam, (B)/  but only a few achieve success (C)/  in 

this field. (D)

1. A

2. B

3. C

4. D

5. No error
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In the given sentence a word has been emboldened. Find out the most 

appropriate word from the given options that can be replaced with the 

emboldened word. If none are correct select option 5 as your answer.
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Choose the correct synonym for the underlined word from the options 

given below.

The report provided a granular analysis of the data, breaking it down 

into specific details.

1. Coarse

2. Broad

3. Generalized

4. Detailed

5. Vague
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The Boeing 787 aircraft, which will bring thousands of 

Sikhs to their most important pilgrim city, will also sport 

an important religious symbol ‘Ek Onkar’ or ‘God is One’ 

to mark the celebrations.

1. stain

2. emblem

3. letter

4. brand

5. None of these

SUPER 15 BATCH – DAY 3



The bubonic plaque was one of the biggest epidemics that 

ever hit human civilization. 

1. Plague

2. Plauge

3. Plegue

4. All of the above

5. No improvement
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Lt. Schmidt wanted to go with an expansive strategy in 

the war while Sgt. Harper pushed for a defensive outlook. 

1. Successive

2. Propulsive

3. Offensive

4. All of the above

5. No improvement
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In the following question, two columns are given containing three 

phrases each. In the first column, the phrases are A, B and C, and in 

the second column, the phrases are D, E and F. A phrase from the first 

column may or may not connect with a phrase from the second column 

to make a grammatically and contextually correct sentence. There are 

five options, four of which display the sequence(s) in which the 

phrases can be joined to form a grammatically and contextually correct 

sentence. If none of the options given forms a correct sentence after 

combination, select ‘None of these’ as your answer.

SUPER 15 BATCH – DAY 3



1. A-E and C-F

2. B-D

3. A-D

4. C-E and B-F

5. None of these
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Column (1) Column (2)

(A) Some 53,000 children die every year 

from diarrhoea in
(D) the season to visit Shillong is there.

(B) For all you travel enthusiasts out there,
(E) Pakistan after consuming polluted water, 

according to UN data.

(C) Psychotic experiences include abnormal 

experiences such
(F) as hearing voices or feelings of paranoia.



1. A-E and C-D

2. A-F and B-D

3. C-D

4. B-F

5. None of these
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Column (1) Column (2)

(A) Just like big cats or jumbos, monkeys 

too are sometimes
(D) another that depends on rhythm.

(B) The lander is being developed and 

tested by the
(E) had the highest levels of endoparasites.

(C) It uses two clocks – one that uses past 

memories and

(F) flown on one of ISRO's two small 

aircraft.



1. A-D

2. B-F 

3. A-F and B-D

4. C-F

5. None of these
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Column (A) Column (B)

(A) Trump's first major policy decision was 

his ban on travel

(D) drafted by Tagore was actually to pay 

homage to King George V.

(B) Inheriting the crown of Macedon in 336 

BC, Alexander

(E) to the U.S. by the citizens of six Muslim 

countries which gathered a lot of hate.

(C) It is astonishing that the Indian National 

Anthem

(F) proceeded on a decade long campaign of 

conquest, including even India in it.



Select the phrase from the options below that should replace the 

underlined phrase in the sentence to make it grammatically and 

contextually correct. If the sentence is already correct, select 'No 

correction required' as your answer.
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She enjoys playing the piano, painting landscape, and go 

to art galleries.

1. go to art galleries

2. going to art galleries

3. goes to art galleries

4. to go to art galleries

5. no correction required
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Since it was his engagement party, Harry was dress to kill.

1. dressed to kill

2. dressing to killed

3. dresses to kill

4. dressed to killings

5. No correction required
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Murthy learned Classical music from Mr Venkat who is a 

renowned teacher while he is studying in the fourth grade.

1. He has been studying

2. He will be studying

3. He was studying

4. He was studied

5. No correction required
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